What is factoring by grouping?   

Sometimes we can rearrange and group the terms in such a way that we can factor more complicated expressions. For example, 
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Now each grouped term can be treated as a separate factoring problem: 
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We now have an expression in which the GCF of [image: image3.png]N
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So we can factor again, as follows: [image: image6.png](x+3)(x2+4)




When factoring a trinomial, why is it necessary to write the trinomials in four terms?
As we could use the method of factoring by grouping. For instance,
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We can write the middle term 6x in the form of a sum: x+5x. So,
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Then we can rearrange and group the terms to get
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Then we can factor each group , so  
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So, taking out the common factor x+1, we have
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